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1. Five numbers are written in ascending order.
Given that

e the second number is four times the first number

e the fourth number is six greater than the second number
* the range of five numbers is 62

e the median is 47

e the mean is 45
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2. Four unbiased coins are tossed. Find the probability that there will be at least three heads.
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3. The coordinates of the points A and B are (7, 10) and (2, —2) respectively.

(a) Calculate the length of the line AB.
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(b) Find the equation of the straight line perpendicular to AB that passes through the mid-point
of AB.

(eodienk of AB = 827890

X -X |

........................ e
...... l = 7
G 7 8
-
.................................................... B
............................................................................... —
_ S - Xy txa YytYa (6]
-.N\\o\*\{noml: o‘{/ B = ( 5 2 >
= .(1+t2 o+ ~9.3
2 2

L)
E(lejm 1 o ¥y S m(%’%])
iy o (x'“%)
Ay ~ 48> ~5x +22

1%y ¥he = 48 +35

g +iox =96 +45
(179-01) Q«&S i = ‘L""‘

Turn over.



4.

(179-01)

Jack eats toast for breakfast.

Sometimes he eats it without butter or marmalade, sometimes he has either butter or marmalade,

but when he is really hungry he has both butter and marmalade.

The probability that he eats his toast without butter or marmalade is 0-2, and the probability that he
eats it with both is 0-3. He is nine times more likely to eat his toast with only butter than he is to eat

it with only marmalade.
Calculate the probability that he eats his toast with only butter.
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(a) Giventhat a=v+u, b=v-u and c¢=uv show that a* - b* = 4c.
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